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9.

Give a technical application for each of the following electromagnetic waves: (3 marks)
a) Ultrasound:
b) Ultraviolet:
¢)

Infrared:

A dog whistle vibrates 2 400 000 times in a minute:
a) Caleulate the frequency of the dog whistle. (3 marks)

s

b) Can we hear the dog whistle? Explain. (2 marks)
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What phenomenon does a bat use to hunt or an aircraft carrier’s sonar use? (1 mark)
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10. Give the three characteristic features of an image produced by reflection in a mirror. (3 marks)
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11. Diffuse reflection reflects light :oaa@@ﬁ smooth surface) reflecting parallet light rays in (a

iR

parallef way o,m,%m:,\a;_wmmmm._@ and (does af does not) produce a clear image. (3 marks)

et s T

12. What causes the vision defects of myopia (nearsightedness) and hyperopia (farsightedness)?

13. Draw the images produced by the foliowing lenses when an .,og.m& is ptaced in their field.

Include the type of lens that corrects each. (6 marks)
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Use two of the three possible rays to find each image. Include whether the image is real or virtual.

(6 marks each)

YOU NEED TO BE ABLE TO DO THESE FROM MEMORY!
USE A RULER!




